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SIHAE 20184

Oll &FXb= 0 =0l A

A2 FEHESIIS

® NS=Xs52 (Shel: &)

& o A = Xl & A &
8 = 40l rSELCTl 5 3 = Al =0 rSIEEHEET =2

=l A 214,344 210,296 4,048 | & p.| 214,344 210,296 4,048
PSpell= 0 0 0| HISXHA ALY 9,000 3,000 6,000
EES= 0 0 0| 8RS AFZHI 0 0 0
a2 0 0 0|02 0 0 0
o eeeny 0 0 0|22 0 0 0
NEr225% 0 0 0|03 200,000 0 200,000
oI 23l 211,469 207,467 4,002| 0l XI2 5,344 207,296 A201,952
=} 0 0 0| Rt=ele|Sats 0 0 0
Ol K=&l 2,875 2,829 I E=ERIEN 0 0 0
JIEF 0 0 0| JIEHKIZ 0 0 0
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AHAZ - LdHE
@ K= CH): )
AL AOIOH SE= = 2} o
S =5 o108 S = -
200 M2l 2,620 2,829 A209
210 SAXH AN+ 2,620 2,829 A209
216 Ol A== 2,620 2,829 A209
216-01 S30S30IKXt= 2,620 2,829 A209
OulIxI= Ol Xt==& 2,620,000& = 2,620
700 XU SLLH 211,724 207,467 4,257
710 2Ed+2S 211,469 207,467 4,002
714 X322 211,469 207,467 4,002
714-01 211,469 207,467 4,002
OtlIxI=2al= 211,469,000& = 211,469
720 LHS A 255 0 255
722 Ol 2Yu =2 255 0 255
722-04  OGIE=0l1Kt 255 0 255
OullEt= 0kt 255,000& = 255
= 214,344 210,296 4,048
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AHFE ¢ FHES)|=
® XEH= (Eh9): @)
2&.2F2 - HHM . H2 - JIRAIY - BES XI=H HEAEX| =N Hws2Z
O1&JIED 214,344 210,29 4,048
2% - IE2014 214,344 210,29 4,048
(CPSE-IY 9,000 3,000 6,000
OIE=EXNSR(LLESIIZ) 9,000 3,000 6,000
OIE=RIAL X2 9,000 3,000 6,000
201 LBH2HY] 6,000 3,000 3,000
01 A=z 6,000 6,000 3,000 3,000
OZLEY EE2 1,000,0002 = 1,000
OXNZosell A22ds s 2,000,0002 = 2,000
OBOIE 22 el 22 AHlA 3,000,0008! = 3,000
301 LBtEAZ 3,000 0 3,000
00 AL EAE 3,000 3,000 0 3,000
ONSUs SUZAID ABIOIHAHAER 2
of
B 3,000,0008 = 3,000
MPES(0HAIIE) 205,344 207,29 A1,952
BENE(SHBSIIS) 5,344 207,296 A201,952
Gy =MbY 5,344 207,2% A201,952
602 OilXI= 5,344 207,296 A201,952
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01 olx= 5,344 5,344 207,29 201,952
OulIxI2 5,344,0002 = 5,344

HEHHKIE(LHBSI|I2) 200,000 0 200,000

LHEHeH KIS 200,000 0 200,000

704 OIIEF3S 200,000 0 200,000

0l oe= 200,000 200,000 0 200,000
Osg=eDIZ HE2 200,000,0002! = 200,000

X = g A 214,344 210,29 4,048
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0TI | =0l
AFE  FHESIIS o X2
g ato
2y wmuz|=zs W I ne |UEe (@®)
e T g
20124 NHX 234,853 180,000 54,853 22,285 22,285 212,568
20139 & 6,298 0 6,298 5,920 5,920 378
20144 % 5,602 0 5,602 5,743 5,743 A4
20159 % 4,556 0 4,556 5,949 5,949 21,393
20169 & 3,117 0 3,117 2,737 2,737 380
20179 % 2,677 0 2,677 3,000 3,000 A323
20189 & 2,875 0 2,875 9,000 9,000 26,125
Al 259,978 180,000 79,978 54,634 54,634 205,344
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SIHIE : 20184
Oll&ERb== 0 204
2HF=E - ddES)IS _
(el A
OIXI 2 ol
22 01 XI(=) A bl
2016 =S H 017HELSHTHH@ 2018 =LSHTHHD EE(OZ6))

Bl 211,791 211,469 205,344 26,125
Xz B 211,791 211,469 5,344 A206,125

=8 211,791 211,469 5,344 A206,125
HE= ] 0 0 200,000 200,000

s2eI3 0 0 200,000 200,000




